
wm‡jevm- 2021 
cÖ_g †kÖwY 

welq t evsjv 
Aa©-evwl©K cixÿv 

1| cvV- 45, 46, 47, 48| c„ôv bs (1-39, 44-49, 57-63)  
2| ¯^iwPý w`‡q kãMVb (Av-Kvi-F-Kvi ch©šÍ) 
3| kãv_© (cvV¨ eB) t (Awj, Ewg©, Dlv, FZz, HiveZ, GKZviv, bvI, e„l, 

bvMvj, cvqiv, M„n, m½x, Z…Y, Rj, MxZ, UMi, †fvi, XvK, bywo †ivR)| 
4| evK¨ MVb (cvV¨ eB) t (Bwjk, cZvKv, mvnvh¨, AvZv, gvV, dj, cvZv, 

b`x, gv, DU, Zejv, So, Drme, Av‡jv, Wvbv, cÖvY)| 
5| G‡jv‡g‡jv eY© mvwR‡q mwVK kã MVb t (evMvb, Jla, Ckvb, fvjyK, 

Kjg, Pkgv, wccvmv, gqbv, meyR, Wvwjg, Kjm, mvMi, wfZi, Dovj, 
cvjwK)| 

6| wecixZ kã (cvV¨ eB)- (Nb, eo, †LuvR, nvwm, fv‡jv, euvPv, lvuo, wmsn, 
mv`v, `~‡i, Av‡jv, w`b, fv½v, †Kbv, wfZ‡i, Avmv, AvKvk, mKvj, axi, 
mnR, kxZ, _vgv, Av`i)| 

7| ePb cwieZ©b (cvV¨ eB)- (Avwg, Pkgv, KvK, †Q‡j, Avg, DU, BU, 
MvQ, cvZv, QvÎ, wZwb, Zzwg, Xzwj, kmv, Kjg, dzj, AvZv, Wve, dj, 
cvqiv, Qwe, Bwjk)| 

8| Aby‡”Q` wjLb t (5wU ev‡K¨)- gv, evMvb, RvZxq gvQ| 
9| Qov t (evK evKzg cvqiv, nbnb cbcb, AvZv Mv‡Q †ZvZv cvwL)| 
 

1g ‡kÖwY Afxÿv 
1| c„ôv t (1-29) ch©šÍ| 
2| Qov t AvZv Mv‡Q †ZvZv cvwL, BZj weZj| 
 

‡kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 
1| Qov  I QovKv‡ii bvgmn  4 jvBb 06 

2| kãv_© t (6wU) 16 = 06 
3| evK¨MVb t  (4wU) 24 = 08 
 ‡gvU = 20   

Aa©-evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 
 

1| Qov t (Qovi bvg I QovKv‡ii bvgmn  4 jvBb) 1+1+8 = 10 

2| kãv_© t (5wU) 25 = 10 
3| evK¨MVb t  (5wU) 25 = 10 
4| G‡jv‡g‡jv eY© mvwR‡q mwVK kã MVb  15 = 05 
5| k~b¨¯’vbc~iY t (5wU) 15 = 05 
6| cÖ‡kœi DËi t (5wU) 35 = 15 
7| wecixZ kã t (5wU) 15 = 05 
8| ePb cwieZ©b t (5wU) 15 = 05 
9| Aby‡”Q` wjLb t (5wU ev‡K¨)- 1wU 110 = 10 
10| kÖæZwjwc (wkÿK K¬v‡m wba©viY Ki‡eb) 10 

11| ª̀æZcVb (wkÿK K¬v‡m wba©viY Ki‡eb) 10 

12| my›`i nv‡Zi †jLv 05 

 ‡gvU = 100 

 
evwl©K cixÿv 

1| cvV- 38-41, 48, 50, 51, 52, 55| c„ôv bs (50-56, 64-72)|  
2| ¯^iwPý w`‡q kãMVb (G-Kvi........J-Kvi ch©šÍ)| 
3| kãv_© (cvV¨ eB) t (‡R‡j, ˆekvL, K…lK, †fvi, †`vi, Zwi, Avj‡m, 

†ivR, Lywk, ¯̂vaxb, †PvL, g„M, Muv, ˆeVK, hy×, ev`j, RywU, ỳkgb, QzwU, 
exi, ˆmKZ, Z…b, wewPÎ, axi, „̀p)| 

4| evK¨ MVb (cvV¨ eB) t (dzj, Avg, kxZ, cyZzj, b`x, K…lK, gq~i, Rev, 
MvQ, †`k, cvwL, cZvKv, meyR, weRq, gvV, evMvb, AvKvk, †R‡j, †PvL, 
wewPÎ)| 

5| evbvb ïw×KiY (cvV¨ eB)- c„ôv bs- 66 I 71| 
6| wj½ cwieZ©b (cvV¨ eB)- (evev, gvgv, †R‡j, †LvKv, K…lK, nwiY, †Q‡j, 

fvB, Lvjy, gq~i, evN, `v`v, PvPv, ei)| 
7| Aby‡”Q` wjLb t (5wU ev‡K¨)- RvZxq dzj, Avgv‡`i †`k, gyw³hy×| 
8| Qov/KweZv t (gvgvi evwo, †fvi n‡jv, QzwU)| 
 

2q ‡kÖwY Afxÿv 
1| cvV¨ eB- c„ôv bs- 62, 68| 
2| Qov/KweZv t gvgvi evwo, †fvi n‡jv| 
3| hy³eY© t cvV- 48, gygyi mvZw`b| 

 



‡kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 
 

1| Qov/KweZv t (KweZv I Kwei bvgmn 4 jvBb) 05 

2| hy³eY© †f‡½ kã MVb t (5wU) 05 

3| kãv_© t (5wU) 05 

4| cÖ‡kœvËi t (2wU) 22.5 = 05 

‡gvU= 20 

 
evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 

 

1| Qov/KweZv t (KweZv I Kwei bvg bvgmn8 jvBb) 1+1+8=10 

2| kãv_© t (10wU) 110 = 10 
3| evK¨MVb t  (5wU) 25 = 10 
4| wj½ cwieZ©b t (5wU)  15 = 05 
5| hy³eY© †f‡½ kãMVb 2wU K‡i 25 = 10 
6| k~b¨¯’vbc~iY t (5wU) 15 = 05 
7| evbvb ïw×KiY t (5wU) 15 = 05 
8| cÖ‡kœi DËi t (5wU) 35 = 15 
9| Aby‡”Q` wjLb t (5wU ev‡K¨)- 1wU 110 = 10 
10| kÖæZwjwc (wkÿK K¬v‡m wba©viY Ki‡eb) 10 

11| ª̀æZcVb (wkÿK K¬v‡m wba©viY Ki‡eb) 05 

12| my›`i nv‡Zi †jLv 05 

 ‡gvU = 100 

 

Subject : English 
Half Yearly Examination 

1. English for Today (Page No : 1-36) 

2. Vocabulary : (Page - 61, 62, 63 & 64) 

 (Word meaning, Making sentence, Number change, Re-

arrange, Dictation will be taken from the following words) : 

A = (And —Alphabet), B = (Ball—Bye), C = (Count—

Clap), D = (Do—Door), E = (Elephant — Each), F = (Fine 

— Fish), G = (Good morning —Good bye), H = (Here — 

Hello), I = (It — Is), K = (Kite — Kitten), L = (Look — 

Little),  M = (Morning —Match), N = (Now — Name), P = 

(Play — Pond), Q = Quilt, R = (Read — Right), S = (Say —

Sky), T = (Teacher — This), W = (With — Want), Y = (You 

— Your). 

3. Rhymes : (a) Good bye Good bye   (b) Three little tigers     

                 (c) Rain Rain 

4. Paragraph : Myself 

1st Term Class Test 
1. Page No : 1—15  

2. Word meaning  

3. Rhymes : (4 lines) -  (a) Good bye good bye  

                 (b) Three little tigers 
 

1st Term Class Test Marks Distribution 
1. Word Meaning : ( Five) 1  5 = 05 

2. Short Question : (Two) 2  5 = 10 

3. Rhyme 05 

 Total : 20 
 

Half Yearly Exam Marks Distribution 
1. Rhymes 10 

2. Word Meaning : ( Five) 2  5 = 10 

3. Make Sentences : (Five) 2  5 = 10 

4. Fill in the blanks : (Five) 2  5 = 10 

5. Re-arrange the jumble Words :  05 

6. Answer & questions : (Five) 3  5 = 15 

7. Translation into Bangla : (Five) 2  5 = 10 

8. Paragraph  writing 10 

9. Reading : (To be worked out in the class) 05 

10. Dictation+Spelling : 

(To be Worked Out in the class 

10 

11. Hand Writing 05 

 Total : 100 



 

Annual Examination 
1. English For Today : Page 37 - 60 

2. Vocabulary : Page- 61, 62, 63, 64 

(Word meaning, , Making  sentence, Number Change, Re-

arrange, Dictation will be made taken from the following 

words) : 

A = (Act --- Answer), B = (Bird --- But), C = (Colour --- 

Cot), D = (Dog --- Dish),  E = (Egg --- Eye), F = (Fish --- 

For), G = (Go --- Go away), H = (Hen --- Home), J = (Jar --- 

Join), L = (Left --- Lay), M = (Missing --- Mat), N = 

(Number --- Not), O = (Open --- Outside), P = (Plant --- Pick 

up), R = (Rain --- Ring), S = (Show --- Starting), T = (Tap --

- Then), U = (Unit --- Umbrella), V = Van, W = (Where --- 

Watch), X = X-Ray, Z = Zebra. 

3. Rhymes : (a) Counting cats  (b) Ring Ring  (c) One Two  (d) 

Counting Fishes 

4. Paragraph : My Family 
 

 

2nd Term Class Test 
English for Today : Page No - 37—50 

1. Word meaning 

2. Make sentences 

3. Number change 

 

 

2nd Term Class Test Marks Distribution 
1. Word Meaning : ( Five) 1  5 = 05 

2. Make sentence : (Five) 2  5 = 10 

3. Number chnage : (Five) 05 

 Total : 20 

Annual Exam Marks Distribution 
1. Rhymes 10 

2. Word Meaning : ( Five) 2  5 = 10 

3. Make Sentences : (Five) 2  5 = 10 

4. Fill in the blanks : (Five) 1  5 = 05 

5. Re-arrange the jumble Words :  05 

6. Number change 05 

7. Translation into Bangla : (Five) 2  5 = 10 

8. Answer & questions : (Five) 3  5 = 15 

9. Paragraph  writing 10 

10. Reading : (To be worked out in the 

class) 

05 

11. Dictation + Spelling : (To be Worked 

Out in the class 

10 

12. Hand Writing 05 

 Total : 100 

welq t MwYZ 
Aa©-evwl©K cixÿv 

1| cvV¨ eB‡qi (1---70) c„ôv| 
2| As‡K wjLb t 1 --- 50 (evsjvq), 1---50 (Bs‡iwR‡Z) 
3| K_vq wjLb t 1 --- 50 (evsjvq), 1---50 (Bs‡iwR‡Z) 
4| †Rvo-we‡Rvo Avjv`vKiY t 1---50 
5| ‡QvU †_‡K eo/eo †_‡K ‡QvU µgvbymv‡i mvwR‡q wjLb 1 --- 50 
6| mnR †hvM-we‡qvM 
7| mgm¨vg~jK †hvM-we‡qvM| c„ôv bs- 33, 37, 47, 50, 52, 54, 66, 

69, 70| 
8| ¸‡Yi bvgZv t 2, 3, 4, 5 
9| `k‡Ki mvnv‡h¨ wjLb t 11 ---25, c„ôv- 96, 97 

1g ‡kÖwY Afxÿv 
1| As‡K wjLb t 1 --- 25 (evsjvq), 1---25 (Bs‡iwR‡Z) 
2| K_vq wjLb t 1 --- 25 (evsjvq), 1---25 (Bs‡iwR‡Z) 
3| mnR †hvM we‡qvM| c„ôv- 30, 33, 41, 52 

1g ‡kÖwY Afxÿv cÖ‡kœi aviv I gvbeÈb 
1| As‡K wjLb t (evsjvq) 5wU 15 = 05 
2| K_vq wjLb t (evsjvq) 5wU 15 = 05 
3| As‡K wjLb t (Bs‡iwR‡Z) 5wU 15 = 05 
4| ‡hvM-we‡qvM t 2wU 2.52 = 05 



‡gvU = 20 

Aa©-evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 
1| As‡K wjLb t (evsjvq) 10wU 110 = 10 
2| K_vq wjLb t (evsjvq) 10wU 110 = 10 
3| As‡K wjLb t  (Bs‡iRx‡Z) 5wU 15 = 05 
4| K_vq wjLb t  (Bs‡iRx‡Z) 5wU 15 = 05 
5| ‡QvU †_‡K eo,  eo †_‡K †QvU t 10wU 110 = 10 
6| ‡Rvo-we‡Rvo msL¨v  Avjv`vKiY t 10wU 110 = 10 
7| LvwjNi c~iY t 5wU 25 = 10 
8| mnR †hvM-we‡qvM t 5wU  25= 10 
9| `k‡Ki mvnv‡h¨ wjLb t 5wU 15 = 05 
10| mgm¨vg~jK †hvM-we‡qvM t 2wU  210 = 20 
11|  my›`i I cwi”Qbœ n Í̄vÿ‡ii Rb¨ 05 
 ‡gvU = 100 
 

evwl©K cixÿv 
1| cvV¨ eB‡qi (71---100) c„ôv| 
2| As‡K wjLb t 51 --- 100 (evsjvq), 51---100 (Bs‡iwR‡Z) 
3| K_vq wjLb t 51 --- 100 (evsjvq), 51---100 (Bs‡iwR‡Z) 
4| †Rvo-we‡Rvo Avjv`vKiY t 51---100 
5| ‡QvU †_‡K eo/eo †_‡K ‡QvU µgvbymv‡i mvwR‡q wjLb 51 --- 100 
6| mnR †hvM-we‡qvM 
7| mgm¨vg~jK †hvM-we‡qvM| c„ôv bs- 71, 74, 85, 87, 94| 
8| ¸‡Yi bvgZv t 6--10 
9| `k‡Ki mvnv‡h¨ wjLb t 26 ---50, c„ôv- 97 
10| µgevPK msL¨v t c„ôv bs- 78 
11| R¨vwgwZK AvK…wZ t c„ôv bs- 8 9 

 

2q ‡kÖwY Afxÿv 
1| As‡K wjLb t 51 --- 75 (evsjvq), 51---75 (Bs‡iwR‡Z) 
2| K_vq wjLb t 51 --- 75 (evsjvq), 51---75 (Bs‡iwR‡Z) 
3| mnR †hvM we‡qvM| c„ôv- 93 
4| µgevPK msL¨v 

 

2q ‡kÖwY Afxÿvi cÖ‡kœi aviv I gvbeÈb 
1| As‡K wjLb t (evsjvq) 5wU 15 = 05 
2| K_vq wjLb t (Bs‡iwR‡Z) 5wU 15 = 05 
3| µgevPK msL¨v t 5wU 15 = 05 
4| ‡hvM-we‡qvM t 2wU 22.5 = 05 

‡gvU = 20 
 

evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 
1| As‡K wjLb t (evsjvq) 10wU 110 = 10 
2| K_vq wjLb t (evsjvq) 10wU 110 = 10 
3| As‡K wjLb t (Bs‡iRx‡Z) 5wU 15 = 05 
4| K_vq wjLb t (Bs‡iRx‡Z) 5wU 15 = 05 
5| ‡QvU †_‡K eo, eo †_‡K †QvU t 10wU 110 = 10 
6| ‡Rvo-we‡Rvo msL¨v  Avjv`vKiY t 10wU 110 = 10 
7| LvwjNi c~iY t 5wU 25 = 10 
8| mnR †hvM-we‡qvM t 5wU  25 = 10 
9| `k‡Ki mvnv‡h¨ wjLb t 5wU 15 = 05 
10| mgm¨vg~jK †hvM-we‡qvM t 2wU  210 = 20 
11|  R¨vwgwZK AvK…wZ t 2wU 22.5 = 05 
 ‡gvU = 100 

welq t WªBs/A¼b 
Aa©-evwl©K cixÿv  

1| AsKb KiY t e„Ë, wÎfzR, PZzf‚©R, ej, †gvgevwZ| 
2| AsKb I is KiY t Nywo, †ejyb, Avg, Av‡cj, Ni| 
3| Ni I MvQ wb‡q GKwU „̀k¨ AsKb I is KiY| 

 
evwl©K cixÿv  

1| AsKb KiY t m~h©, †cwÝj, gvQ, †bŠKv, RvZxq cZvKv| 
2| AsKb I is KiY t Kjv, †cu‡cu, dzj, QvZv, Møvm| 
3| wb‡Ri B‡”QgZ GKwU „̀k¨ AsKb I is KiY| 

 



Aa©-evwl©K I evwl©K cixÿvi cÖ‡kœi aviv I gvbeÈb 
(djvdj †MÖwWs c×wZ‡Z n‡e) 

1| A¼b KiY (‡h‡Kvb 2wU) 102 = 20 
2| A¼b I is KiY (‡h‡Kvb 2wU) 102 = 20 
3| wb‡Ri B‡”QgZ `„k¨ Gu‡K is KiY 110 = 10 
 ‡gvU =  50 
 


